(R WRE P | RIpiRE ZrE
THFTR Bk | ATR CNS 1.3 18 R 80 ISOV%‘
A TR I R 3765 AAgG HREHY > F AR
BB~ T #e & TR 1000V ~ 35 it 2§ % 2000V TR -
N SRR s 2 RERRE OF 5
et B S TH RS 2).3 (E TR 3 150V~250V 4
BDEH RV P ‘iﬁmﬁfilooov‘ﬁw?“?ﬂ
B REa R Ak 2 @& 1750V 0 58 i 8 % 3000V > i
B HATREK N R RN/ O R
B I TR BTN DITZE T B 0.25MA 11T o
.5 2).0 # 01 % I 5 7 =B 0.5MA 11T o
T4 ?,@Jjﬁa . 3)3EF A 14T B 0.75MA 11T o
T e HeE A THT BISMA T o
BT T ;Lscz% 5% 5 A 15787 8 0.75MA 2T o
E-RFRaE %
AL EEE 7AW S TEASE ﬁi'&%m’fﬁm PR
B BR g eninig > ok RVFRE A TN
E
T8 34T | CNS % * B re2t DCSOOV 2 7 /& £ B BB
8799 IMQ 12 F oo
it 7 R /& 1000 Voo TRIE- A4 > KR
2K
kAR | TR CNS 1.3 1T R 2230 150V
3765 hArGF ARG AR
1000V ~ 35 it & % 2000V » ¥ jpl3E -
2 REE ¥ W
2).3 1F TR E A 150V~250V F
A AE ST AR 1000V4 v 7 5% F A
2 @& 1750V 0 5 i 3 % 3000V > &
i?'J?;i“’ 2 RN/ ¥
AV A e 1 CNS LR ER
2062 *REER| AR DL £ R
15 |&22=%| 0~10
30 BAE |35RMT




AN IR

i e

ik 7| pF R (hr)
Tl gz BRI UT
Tl ERAE 3T

T ke k& (EF)1R 2

5 i R F &
-] %> 400L | EF=V/(0.058V+38.3)
= *» 400L | EF=V/(0.054V+35.2)
%:rEF EAx3 4%4 7

iR gRL CNS B3 Jﬁwzk’ﬂffux4pé%ﬁﬂﬁ,
3765 - IUE SR T RER > RET
CNS 8 4 A fo kR R (2710.3)C
BT 12492 1.4 3 % 025MA 1T o
2).0 %8 01 % 111 #F & % 0.5MA ™1 T o
3)4EF A 1257 B 0.75MA 21T o
4) % A 15T B3SMA LT o
5% E A 1T HT EO0TSMA LT o
i TR B 1000V > TpE- A48 0 B
ﬂ#o
TE N4 & | CNS MAF% % 7 W8 4 A hen@ s g &
14336 PR EIE e R o
it % AR AR 1000 Vo 3plE- A4l 0 A
L
RS aa*& CNS ﬁﬂ«ﬁi%*ﬁﬁé\%qmt’ﬁ
3765 KERLZED 60T k-kER L
CNS 4~117C -
3910
R A i KR CNS KR ECKETR IR R ST R
3765 - 2700 > g SEREREPFLETE
CNS +5CR -
Sk | (A K Ak g Rk R

Hok 4o »FEd 2 kA EH I F
Gl 2] pE o B ORATEE AT A 2ok
FRLI MY o




